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B FRAHERY 37, 447, 311
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1 H I L 35, 328, 011
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& T T 6,132,672 | (ILRBREWN) ;
TTRIEE L AG 2509) 473.2 km
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HEAK a3 5+ L 10,055,115 | (AL KIREWN) ;

TS E R (B 50 m
TR R T T AZO. 125 0 A0 HERSSRB0%RT

TS E R (B 5 m
RR ITE T T RS0, 125 m AT HERS=R50%LL I ;

TS E R (Bt) 5 m
R RSB EAE0. 125nf LL_1-0. bm27Rim HERE R
50%ATH ;

TS E R (Bt) 5 m
R RSB EAE0. 125nf LL_1-0. bm27Rim HERE R
50%LL F ;

R E 1, 600 m
BB ¢ 200mmPh B ¢ 400mmASTHE HERE ZR50%
A

R E 900 m
R B ¢ 200mnlL b ¢ 400mmART HEREZRE0%
A

B IR 200 m
R B ¢ 200mmlL b ¢ 400mmART HEREZRE0%
Pk

B IRE R 5 m
R B ¢ 400mnll [ ¢ 800mmATH HEREZRE0%
A

B IRE R 5 m
R B ¢ 400mnll [ ¢ 800mmATH HEREZRE0%
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IR E 1, 000 m
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R E 5 km
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WSS T B 1 138,666 | (LRIREP) ;
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T = 1 8,875,008 | (F#AE M) ;
T I e (R 684. 8 km
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HEAK i 3% 5+ L 2V 1 5,955,900 | (EHIEN) ;

TS E R (B 50 m
TR R T T AZO. 125 0 A0 HERSSRB0%R0

TRV I s (B 150 m
BRI T T RS0, 125 m AT HERS=R50%2L [ ;

TS E R (B 50 m
R RSB EAE0. 125nf LL_1-0. bm27Rim HERS R
50%ATH ;

TRV I (B 100 m
R RSB EAE0. 125nf LL_1-0. bm27Rim HERE R
50%LL F ;

IR 800 m
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K B ¢ 200mnlL b ¢ 400mmART HEREZRE0%
A

R g 400 m
K B ¢ 200mnlL b ¢ 400mmART HEREZRE0%
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R g 5 m
K B ¢ 400mmll I ¢ 800mmATH HEREZRE0%
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R E 5 m
K B ¢ 400mmll I ¢ 800mmATH HEREZRE0%
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R E 150 m
KW FAVEIKT vy) BEE ¢ 150mmEL_E200mmA i
HEREZR50% A ;

R E 100 m
K FAVEIKT vy) BEE ¢ 150mmEL_E200mmA i
HERHZR50%LL | ;

TRV I s (B 5 km
wHE e ;

R E 5 km
wHE e ;

SETK PR H (BA) 5 (530
B HERE B 0. 3m3RT [J50cm~80cm H4E
E100cmPh |

SEIK PR H (BAs) 5 i T
wE HERS & 0. 3m3R [J50em~80cm 4
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SRR BRE H (BA) 5 i T
B HERE & 0.3m3LL E (050cm~80cm i
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TEg g L = 781,350 | (BHIEMN) ;
HEKE T 150 m
EN:! 5
MEEET = 2,080,000 | GBHIEMN) ;
BER ALy 70 t
RAFEIEY (A)
BER ALy 50 t
BEFEIEY (B)
E% T X 2,119, 300
AREET = 2,119,300 |ZIEFHEENHE (A) 4 AH
B
RIBTHEENFE (B) 4 AH
B
RIBTHEEFE (A) 30 A H
I
RIBTHEENFE (B) 50 A H
W
[EREREE = 37, 447, 311
Hom R = 6, 154, 000
Il (Rt L) = 6, 154, 000
il TR = 43,601, 311
Bl H = 19, 217, 000
T =5l = 62, 818, 311
— R B = 11, 061, 689
T =AM = 73, 880, 000
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